Efficiency vs dr

2 0.05

<
9.045
30.04
c
(0]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

.......

[ fake+duplicates vs AR |

0.4

fake+duplicates rate vs AR

_original_step2_ttbal
_pixel CPETemplate

r-phasel-newgeom

step2_ttbar-phasel-newgeom

it

_pierCPETempIateEutChiSquareNew5_step2_ttbar-phasel—newgeom

=
S
w

[ Efficiency vs dr (track,jet) |

1072 107 1

TP min AR

.§0.01
d0.009
£
Q.OOS
9.007
>
®.006
Q
359.005
)
0.004
0.003
0.002
0.001
10

Ratio

1.

1

1072

=
S
w

Efficiency vs pu

-1

1
AR(TP, jét)

50.02
o F
9.018F
9.016F
(] r
D.014F
t -
®.012F
0.01F
0.008F
0.006F
0.004F
0.002F

e OF T7H)

I L : ] T ]

Rl W N RRdRUNEE 1 e
20 30 40 50 60 70 80 90 100

1072 101 o
track min AR

[ fake+duplicates vs AR(track, jet) |
1

© I o ©
N N o)) ©

fake+duplicates rate vs AR(track, jet)

&

Ratio

1072

z I e *+ """"
Y : : : : : :
o b e ol #5* o
A i S S &
8 [ : : : : : :
[P D SO D
- T A
ke} -
+ | : : : : : :
[J] . . . : : :
& 04t R P P
02:— --------------------------------------------------
PN PP PR PR R i |
o ~Lr : : !
§ t ] : §
s WW‘“WW """"""""
0406080

100 120 140
Pileup



	Contents
	Page 1


